



이름: _____

날짜: _____ 점수: _____

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{2}{5}\right) - \frac{3}{5} =$$

$$\left(\frac{1}{3}\right) - \frac{1}{6} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{5}\right) + \frac{2}{5} =$$

$$\left(\frac{1}{4}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{5}\right) - \frac{1}{3} =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{2}{5}\right) =$$



이름: _____

날짜: _____ 점수: _____

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{4} = \left(-\frac{129}{500}\right)$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{4} = \left(-\frac{3}{16}\right)$$

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{2}{5}\right) = \frac{1}{15}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{4}\right) = 0$$

$$\left(\frac{2}{5}\right) - \frac{3}{5} = \left(-\frac{1}{5}\right)$$

$$\left(\frac{1}{3}\right) - \frac{1}{6} = \frac{1}{6}$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{4}\right) = \frac{13}{36}$$

$$\left(-\frac{3}{5}\right) + \frac{2}{5} = \left(-\frac{1}{5}\right)$$

$$\left(\frac{1}{4}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{6}\right) = \frac{1}{24}$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{4} = \frac{1}{8}$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{3}{4}\right) = \frac{379}{500}$$

$$\left(\frac{1}{3}\right)^2 + \frac{2}{5} = \frac{23}{45}$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{2} = \left(-\frac{107}{216}\right)$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{55}{216}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) = \frac{5}{12}$$

$$\left(-\frac{1}{5}\right) - \frac{1}{3} = \left(-\frac{8}{15}\right)$$

$$\left(\frac{3}{4}\right) + \left(-\frac{2}{5}\right) = \frac{7}{20}$$